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����� 2  
�B�=9 �9C�
@; D:��4E��	
 

 
�B�=9 D:��9C�
@; 
 
1. 3B�E9;C:	=9�  

- ���/$'@,=���#,�%(���,
 (Clarias macrocephalus X C. gariepinus) ?'�#
'	7��'$��P��5
 10 �. "#�+��A��=����<')' �.�7���� �. ����� +. /$4�,� -#
'7���/$�"��)'8$�"A
�%��=���
���?'�# 1 �$' ��.'�1
1���� 7�10 �$' �3�'���4#���  
 
2. �	8	
��	8
B�:F�C:	=9� 

- )<��������D#
7���D+���
7���$%���#,�?'�#��D�/(�V9?��%�(9$4�+�(>-;&;$:�=
�����+7��$# (���<') 
 
3. �9C�
@;��G�
B���+	����	 

- ?�#/��
�(� (Polyethylene) ?'�# 240 ��. +7�'�' 24 )% 
- ?�#%�-�#� 

 
4. �9C�
@;�:����C:	�=:�� 
  - �����1+�?'�# 45x60x45 6�. +7�'�' 24 ���  
  - �,���:=)������V (�*o��� 43�/���6� 
�

�� 0�1�$�4��
) 

- ��?3�
/��
�(��r#���4#��������$'�����1-##���+����� 
- ��3��0���
7���$%)
3
������?'�# 10X10X30 6�. +7�'�' 24 ��3�� 

 
5. �B�=9�
��   

- �V9�1���$�?'�# 0.6-1.4 6�.  
- 83�'�$��$'�=?'�# 0.2-0.4 6�.  
- 83�'�1���1/����?'�# 0.6-1.2 6�.  
- 4��
�1���
#?'�# 0.2-0.4 6�. 
- 4��
�
�%?'�# 0.5-0.7 6�.  
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- ���#?'�# 1-1.4 6�. 
- 4��
&�1?'�# 0.3-1.3 6�.   
- bioball ?'�#�
�'B3�'V�'
=���� 3.0 6�. 
- ceramic ?'�#�
�'B3�'V�'
=���� 0.6 6�.   
- ammonia chip ?'�# 0.3-0.6 6�.  
- zeolite ?'�#�
�'B3�'V�'
=���� 1.2 6�.  
- )
/��
�(��
�%�'� 1 0B3' ?'�# 10X10X2.54 6�.   
- )
/��
�(��
�%�'�&�25�0B3'?'�# 10X10X1.27 6�.  
- )
/��
�(�?���'� 1 0B3' ?'�# 10X10X2.54 6�.   

 #$�0
#�)'���4�5 3 
 

 
 
���4�5 3 �$
#,����4�5)<�)'���4#��� 
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6. �B�=9D:��9C�
@;�4�?
	�8;?9@A	3���	  
- �&��5���$#&�����.'��#-#3��?�� Mettler Delta �,3' 340  
- �&��5�� Spectrophotometer ?�� Shimadzu �,3' UV 1201V. 
- �4��=-��(����= 
- 
���&��4�5)<�)'������+�$#&,:;�/'	7�  
- ��1#�9���� GF/C  (Ø 4.7 6�.)  
- -8#�#&���<�	' (Desiccator) 
- �&��5��0���4�5)<�)'������+�$#&,:;�/'	7�  
- �&��5��<$5�"AA��4V'(
� 2 �7�0�'3� ?�� Satorius �,3' Basic  
- �&��5��<$5�"AA��4V'(
� 4 �7�0�'3� ?�� Satorius �,3' Research 

  
7. �B�=9D:��9C�
@;���7J��=���8	C
45	@�J���D�?���
��
�5  
   - +�'�/�1�<�	� 

- 043�0���
������5
� (Spreader) 
- �1���
�0�������= 
- �&��5��B
�
���1��
 (Vortex mixer)  
- ���%3��<�	� (Incubator) 
- ��������	
��<�	� Plate count agar (PCA)  
- ����%�3��<�	� (hot air oven) ?�� Memmert 
- ����%���	
��<�	� (Incubator) ?�� Memmert 
- �&��5���?
3��$�-'�$�( 
- ����'25��3��<�	� (Autoclave) 
- ���83�
�<�	��(# UV  
- ?�#/��
�(���D%�$��
3��0%%�����r#?'�# 1 ��. (Microcentrifuge tube) 
- ?�#0��������r#?'�# 100 ��. ?�� Schott duran 
- ?�#���<�/�30�1%(�����=?'�# 250 ��. 
- Micropipette ?'�# 1 ��. 0�1 0.2 ��. ?�� Gilson 
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�4E��	
 
 
1. �	
�	�D6��	
�=:�� 

1.1 ���V2�9�&,:;�/'	7�4�5%7�%$##��
�1%%����4�5+7��'3�
)'4������# 
���0B'���4#���0%%
,3����# -#
+$#<,#4#���0%%0A&4����
� (7X17) 

(�'�=4(/
=, 2536) 0�1��3�
�1%%����4(	�"��)'���4#����3�'��3�
�����.'�1
1���� 8 �$' -#

)<����#,�%(���,
?'�#'	7��'$��$��1 10 �. ��3�
 15 �$��3���� ���	
�)'�����1+�?'�# 45X60X45 
6�. 0�1%��+,'	7������1���1 80 �. )������V���#���� )<��������4#��� 64 �$' 
����' ���5�
��(��:0��-��'�

����3� 5 ��./�. ������(��:"'"��4=
����3� 13 ��./�. +1�
,#47����4#��� 
-#
0%3�<,#4#�����.' 7 <,#4#��� (Treatment) ` �1 3 6	7� 0�1��D%�$��
3��'	7����(�&��1�=4,� 
4 �$' ����$'��(5���'#��
��.' 17 &�$	� 625����
��7�#$%�$
#,����)'0�3�1<,#4#���+��%'���3�� #$�'�	 
(���4�5 4) 

<,#4#���4�5 1.1 )<�
��������.'���# 500 �. �3���$%4��
�
�% 500 �. 0�1 
                   4��
�1���
# 500 �. 

<,#4#���4�5 1.2 )<�
��������.'4��
�1���
# 500 �. �3���$%4��
�
�% 500 �.  
                0�1���# 500 �. 

<,#4#���4�5 1.3 )<�
��������.')
/��
�(��
�% 1  0B3' �3���$% ceramic 300 �.  
                  0�1 ammonia chip 300 �. 

<,#4#���4�5 1.4 )<�
��������.')
/��
�(��
�% 1  0B3' �3���$% zeolite  250 �.  
                                      0�183�'�$��$'�= 200 �. 

<,#4#���4�5 1.5 )<�
��������.')
/��
�(��
�%  1  0B3' �3���$% bioball 37  ��� 
<,#4#���4�5 1.6 )<�
��������.'4��
&�1?'�# 500 �. �3���$%)
/��
�(�?�� 2  
                         0B3' 0�183�'�1���1/���� 200 �. 
<,#4#���4�5 1.7 )<�
��������.'�V9�1���$� 300 �. �3���$% ammonia chip 300 �.  
                         0�183�'�$��$'�= 200 �. 
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���4�5 4 �1%%����4�5+7��'3�
)'4������#625�'7���)<�4#��� 
 
1.2 ���V2�9�&,:;�/'	7�4�5%7�%$##��
�1%%����4��
�3���$%83�'"�� 0�1

0%&4����
���1�(# -#
)<�<,#4#���4�5#�4�5
,#?�����4#���4�5 1 ��.'<,#&�%&,�   (<,#4#���4�5 1.5 
)<�
��������.')
/��
�(��
�% 1  0B3' 0�1  bioball 37  ���) -#
/(+��:�+���1
1�������
�,#�$'0�1��&�?���1%%���� ��(��:0��-��'�
0�1"'"��4=�57�
,# (?:14�5��&�����.'#3��
4$	���#�/�
�/�) �$�������+�(>��(%-� 0�1�$����������5
'�������.'�'�	�?�����#,�%(���,
 

���0B'���4#���0%%
,3����# -#
+$#<,#4#���0%%0A&4����
� (8X17) 
0�1��3�
�1%%����4(	�"��)'���4#����3�'��3�
�����.'�1
1���� 8 �$' -#
)<����#,�%(���,

?'�#'	7��'$��$��1 10 �. ��3�
 15 �$��3���� ���	
�)'�����1+�?'�# 45X60X45 6�. 0�1%��+,
'	7���1������1 80 �. )������V���#���� )<��������4#��� 64 �$' 
����'���5���(��:
0��-��'�

����3� 5 ��./�. ������(��:"'"��4=
����3� 13 ��./�. +1�
,#47����4#��� -#
0%3�
<,#4#�����.' 8 <,#4#��� ` �1 3 6	7� 0�1��D%�$��
3��'	7����(�&��1�=4,� 4 �$' ����$'��(5���'
#��
��.' 17 &�$	� 625����
��7�#$%�$
#,����)'0�3�1<,#4#���+��%'���3�� #$�'�	 (���4�5 5) 

�
�= 
 

�
	�8�	� 
 

�
	�:�����= 

�
	�:�����= 
 

�
	�8�	� 
 

�
�= 
 
 

7�3:	�
4�8�	� 
 

Ceramic 
 

ammonia chip 
 
 

7�3:	�
4�8�	� 
 

zeolite 
 

*+	��B55B�
; 
 

7�3:	�
4�8�	� 
 
 

bioball 
 

�
	�?:�M�	= 
 

7�3:	�
4�M	� 
 

*+	���:	5�3
�	� 

�NOC��	
B� 
 

ammonia chip 
 

*+	��B55B�
; 
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<,#4#���4�5 2.1 )<�
��������.')
/��
�(��
�% 1 0B3' 0�1 bioball 37 ���  
<,#4#���4�5 2.2 )<�
��������.'4��
�
�% 500 �. 
<,#4#���4�5 2.3 )<�
��������.'4��
�
�% 500 �. 0�1)
/��
�(��
�% 1 0B3' 
<,#4#���4�5 2.4 )<�
��������.')
/��
�(��
�% 1  0B3' 
<,#4#���4�5 2.5 )<�
��������.')
/��
�(��
�% 1 0B3' 0�183�'�1���1/���� 200 �.  
<,#4#���4�5 2.6 )<�
��������.'83�'�1���1/���� 200 �. 
<,#4#���4�5 2.7 )<�
��������.'4��
�
�% 500 �. 0�183�'�1���1/���� 200 �. 
<,#4#���4�5 2.8 )<�
��������.'4��
�
�% 500 �. �3���$%)
/��
�(��
�% 1 0B3'  
                          0�183�'�1���1/���� 200 �. 
 

 
 

���4�5 5 �1%%����4��
 83�'"�� 0�10%&4����
���1�(# 
 
 
 

7�3:	�
4�8�	� 
 
 

bioball 
 

�
	�8�	� 

7�3:	�
4�8�	� 

�
	�8�	� 
 
 

7�3:	�
4�8�	� 
 

7�3:	�
4�8�	� 
 
*+	���:	5�3
�	� 
 
 

4��
�
�% 
 

)
/��
�(��
�% 
 

83�'�1���1/���� 
 
 

83�'�1���1/���� 

4��
�
�% 
 
 
 

83�'�1���1/���� 
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1.3 ���V2�9�&,:;�/'	7� ��(��:�<�	�0%&4����
���)''	7�0�1
������+�����
%7�%$##��
�1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��
������0���3���$' -#
)<�<,#
4#���4�5#�4�5
,#+�����4#���4�5 2 ��.'<,#&�%&,� (<,#4#���4�5 4 )<�
��������.')
/��
�(�
�
�%�'� 1  0B3') -#
/(+��:�+���1
1��������,#�$'0�1��&�?���1%%���� ��(��:
0��-��'�
0�1"'"��4=�57�
,# �$�������+�(>��(%-� 0�1�$����������5
'�������.'�'�	�?�����
#,�%(���,
 

���0B'���4#���0%%
,3����# -#
+$#<,#4#���0%%0A&4����
� (4X17) 
0�1��3�
�1%%����4(	�"��)'���4#����3�'��3�
�����.'�1
1���� 8 �$' -#
)<����#,�%(���,

?'�#'	7��'$��$��1 10 �. ��3�
 15 �$��3���� ���	
�)'�����1+�?'�# 45X60X45 6�. %��+,
'	7���1������1 80 �. 0�1)������V���#���� )<��������4#��� 64 �$' 
����'���5���(��:
0��-��'�

����3� 5 ��./�. ������(��:"'"��4=
����3� 13 ��./�. +1�
,#47����4#��� -#
0%3�
<,#4#�����.' 4 <,#4#��� ` �1 3 6	7� 0�1��D%�$��
3��'	7����(�&��1�=4,� 4 �$' ����$'��(5���'
#��
��.' 17 &�$	� 625����
��7�#$%�$
#,����)'0�3�1<,#4#���+��%'���3�� #$�'�	 (���4�5 6) 

<,#4#���4�5 3.1 )<�
��������.')
/��
�(��
�%�'�&�25�0B3' 
<,#4#���4�5 3.2 )<�
��������.')
/��
�(��
�%�'� 1 0B3'  
<,#4#���4�5 3.3 )<�
��������.')
/��
�(��
�%�'� 2 0B3'  
<,#4#���4�5 3.4 )<�
��������.')
/��
�(��
�%�'� 3 0B3'  

 

 
 
���4�5 6 �1%%����0%%0%&4����
���1�(#4�5�1#$%&����'�?��
������0���3���$' 
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2. �	
�

��5
F�D:����	7��	
�=:�� 
2.1 �������
����4#��� 0�1�1%%���� 
���4�5)<�)'���4#���4$	���#��.'�����1+����
�5����5
�B�'B��?'�# 45X60X45 6�. 

;�
)'���4#�����<,#����?'�# 10X10X30 6�. ����
�3)'0'��$	�%�(��:�,���� -#
)<� airlift ��.'
�$�&�%&,����"��?��'	7�B3�'<,#����)'�$��� 1 �(���3�'�4� 0�1�����)������V���#����-#

)<��$�4��
 2 �$��3���� #$����4�5 7 

 
 

 
 
���4�5 7 ���0�1�1%%����4�5)<�4#��� 
 

2.2 �������
�'	7�)'���4#���  
)<�'	7���1��+��-������'�/�1���	
�
$��='	7�;�&�(<����(<V�
��=��/$�"����.'���� 

7 �$' )'8$�"A�%��=���
?'�#&���+, 1 �%.�. -#
)������V���#���� 0���'7���B3�'�������
#��
8,�����0/���=��'?'�#<3���� 20-60 "�&��' )
3)'���4#�������1 80 �. 0�147�����#('
�1%%������.'�1
1���� 8 �$' �3�'��3�
��������	
�)'���4#��� 

+,#��D%�$��
3��'	7� 43� airlift 

��3��0���)
3

������ 
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)'���4#���4�51 (���V2�9�&,:;�/'	7�4�5%7�%$##��
�1%%����4�5+7��'3�
)'
4������#) +147����4#���)'
;�/'	7����(4�5)<�4$5�"��/�5���.'?�����)'����/(5���1
(4@(;�/���
%7�%$#?���1%%����)��#�?2	' 47�)��)'���4#���4�5 2 (���V2�9�&,:;�/'	7�4�5%7�%$##��
�1%%
����4��
�3���$%83�'"�� 0�10%&4����
���1�(#) 0�1 3 (���V2�9�&,:;�/'	7� ��(��:�<�	�
0%&4����
���)''	7�0�1
������+�����%7�%$##��
�1%%����0%%0%&4����
���1�(#4�5�1#$%
&����'�?��
������0���3���$') +2�������$%&�����.'#3��4$	���#)'<3����(5���'���4#���
#��
 NaHCO3 )����&3��
�3)'<3�� 80-85 ��./�. 0�1��$%&�����.'#3��4$	���#���&�$	����)'0�3�1
<,#��&�����.'#3��4$	���#�57���3� 20 ��./�.  

 
3. �	
78��	8	
C:	�=:�� 

��3�
���#,�%(���,
 +7�'�' 15 �$��3���� )���������D#
7���D+����$'�1 5 
����=�6D'�=?��'	7��'$��$� (��,3��$���9��, 2541) -#
0%3���.' 2 &�$	� &�� <3���<�� (8 '��(��) 0�1
<3���
D' (17 '��(��) 0�147����<$5�'	7��'$����)'0�3�1<,#4#��� �/�5���$%��(��:�����4,� 8 
�$' ���#���4#��� 
 
4. �	
��G�
B���+	����	 

��D%�$��
3��'	7�4$	� 3 ���4#��� +�����4#���4$	���#)'���� 16 '��(�� 4,� 4 
�$' �3�')����������0�1+#%$'42��1
1����4�5��(5���(#����,#�$'?���1%%���� (�1
1����
4$	���#�$	�0�3��(5���'���4#���+'��'	7�"��%3����4��#��'%'?����3��0���)
3
������) 4,��$'
�3��'�5��"�+'
(	'
,#���4#�����.'�1
1���� 64 �$'  

 
5. �	
�4�?
	�8;?9@A	3���	 

�(�&��1�=&,:;�/'	7�4$	� 3 ���4#��� -#
�(�&��1�=����(��:"'"��4=  "'���4 
���6(�+'�1��
'	7� 0�1%�-�#�����(@�?�� APHA 0�1&:1 (1989)  0��-��'�
��� ?��0?D�
0?�'��
 0�1&�����.'#3��4$	���#����(@�?�� Boyd 0�1 Tucker (1992) 
3�'����$#�1#$%
&�����.'��#-#3��0�1�,:�;��()<� pH Meter 0�1 Thermometer ����7�#$% (;�&B'�� ?) 
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6. �	
��G�
B���+	�D:��=���8	C
45	@�J���D�?���
�� 
  )'���4#���4�5 3 ��D%�$��
3���<�	�0%&4����
)''	7�0�1
���������5���(5���'���
4#���0�14,�` 8 �$' ���#���4#�����.'�1
1���� 64 �$' -#
47����'$%+7�'�'0%&4����
��� 
(total bacterial count) (;�&�(<�+,�<���(4
�, 2535) 625�0
�"#���.' 2 
3�' &�� 
  1) '$%+7�'�'0%&4����
���)''	7� -#
)<����#0���4#���0%%�����r#?'�# 25 
��. 4�5���V+���<�	���D%�$��
3��'	7�4,����4#���)'+,#4�5��D%�$��
3��'	7��/�5��(�&��1�=&,:;�/'	7� 
0���'7�'	7��$��
3����47�����+��+��#��
'	7���$5'0�147��������5
�/�4�/�5�'$%+7�'�'0%&4����

�������(@����)';�&B'�� ?  

2) '$%+7�'�'0%&4����
���)'<$	'���� -#
��r#��#��'�'��?����3��0���4�5%��+,

������0�1)<����&�%+$%)
/��
�(��
�%
7���$%��D%�<�	 �0%&4� � ��
  1  <(	'  ?'�# 
3.33X3.33X2.54 6�.)'4,�<$	'
������ )
3)'?�#0������V+���<�	�4�5��'	7���$5' 25 ��. +��'$	'
'7�?�#0���4�5���$��
3��"��?
3���.'���� 20 '�4� 0���#2�'	7��$��
3����47�����+��+��#��
'	7���$5'
0�147����'$%+7�'�'0%&4����
��������'�$%���'$%+7�'�'0%&4����
���)''	7� 
 
7. �	
�4�?
	�8;M��5F: 

�(�&��1�=&���0���3��?��#$<'�&,:;�/'	7� �$�������+�(>��(%-� �$������
����5
'�������.'�'�	� +7�'�'0%&4����
���)''	7�0�1
������ ��'4,'?���1%%���� 0�1
�1
1����4�5�1%%������(5�����,#�$'#��
�(@� Analysis of Variance (ANOVA) 0�1 Duncan �s 
new multiple range test (DMRT) 4�5&����<�5��$5' 95% 0�1�(�&��1�=
$���1
(4@(n
�
$�/$'@=0%% 
Partial Correlation Coefficient ?���,:�;��( &�����.'��#-#3�� &�����.'#3��4$	���# 
���6(�+'�1��
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